



Navn: _____

Dato: _____ Score: _____

$$4^{(-2)} - (-4) =$$

$$(-8)^2 + 10 =$$

$$(-5)^0 + 8 =$$

$$5^2 - (-7) =$$

$$3^2 + 8 =$$

$$(-10) + 6 =$$

$$2^{(-2)} - 7 =$$

$$(-4)^{(-2)} - 2 =$$

$$5^2 + (-1) =$$

$$(-10)^{(-2)} - (-5) =$$

$$6^{(-2)} - (-5) =$$

$$6^0 + 4 =$$

$$7^{(-2)} - 6 =$$

$$4^2 - 3 =$$

$$7^2 - 10 =$$

$$(-1)^2 + 9 =$$

$$1 + (-5) =$$

$$10^{(-2)} + (-8) =$$

$$(-3)^{(-2)} + 5 =$$

$$8^0 + (-2) =$$



Navn: _____

Dato: _____ Score: _____

$$4^{(-2)} - (-4) = \frac{65}{16} = 4\frac{1}{16}$$

$$(-8)^2 + 10 = 74$$

$$(-5)^0 + 8 = 9$$

$$5^2 - (-7) = 32$$

$$3^2 + 8 = 17$$

$$(-10) + 6 = (-4)$$

$$2^{(-2)} - 7 = \left(-\frac{27}{4}\right) = \left(-6\frac{3}{4}\right)$$

$$(-4)^{(-2)} - 2 = \left(-\frac{31}{16}\right) = \left(-1\frac{15}{16}\right)$$

$$5^2 + (-1) = 24$$

$$(-10)^{(-2)} - (-5) = \frac{501}{100} = 5\frac{1}{100}$$

$$6^{(-2)} - (-5) = \frac{181}{36} = 5\frac{1}{36}$$

$$6^0 + 4 = 5$$

$$7^{(-2)} - 6 = \left(-\frac{293}{49}\right) = \left(-5\frac{48}{49}\right)$$

$$4^2 - 3 = 13$$

$$7^2 - 10 = 39$$

$$(-1)^2 + 9 = 10$$

$$1 + (-5) = (-4)$$

$$10^{(-2)} + (-8) = \left(-\frac{799}{100}\right) = \left(-7\frac{99}{100}\right)$$

$$(-3)^{(-2)} + 5 = \frac{46}{9} = 5\frac{1}{9}$$

$$8^0 + (-2) = (-1)$$